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145 Chem. Final Exam 

 Second Semester 1430 – 1431#
Name: ---------------------------------------------------------------------------   St. No. (---------------------------) 
Group NO. (---------------------------)                                                         Serial No.(------------------------)
I) Choose the correct name of the following structures:

1-              [image: image47.wmf]CONH
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  is:
a) γ-Chloro-δ-hydroxyvaleric acid                       b) γ-Chloro-δ-hydroxy-α-carboxylic acid

c) β-Chloro-γ-hydroxyvaleric acid                    d) β-Chloro-γ-hydroxy-α-carboxylic acid


[image: image2.emf]2
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                               is:
a) 5-t-Butylhexanoyl chloride                                b) 5,6,6-Trimethylheptanoyl chloride   
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c) 5-t-Butyl-6-chlorohexanone                             d) 1-Chloro-5,6,6-trimethylheptanone

3-   
   is:
a) 2-Hydroxy-6,6-dimethyl-3-heptenal            b) 6-Formaldehyde 6-methyl-3-hepten-2-ol

c) 6-Hydroxy 2,2-dimethyl-4-heptenal        d) 2-Formaldehyde-2-methyl-4-hepten-6-ol

[image: image3.emf]4
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4-

is:

a) (Z)-3-Bromo-4-methyl-2-hexene.

b) (E) -3-Bromo-4-ethyl-2-pentene.

c) (Z) -4-Bromo-3-methyl-4-hexene.

d) (E)-3-Bromo-4-methyl-2-hexene.

[image: image4.emf]5
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5-

is:

a) 4,5-Dimethyl-5-hexen-2-ol.

b) 2,3-Dimethyl-1-hexen-5-ol.

c) 4-Propenyl-2-pentanol.


d) 5-Hydroxy-2,3-dimethyl-1-hexene.

_____________________________________________________________________

6-                               [image: image5.emf]O

Br

is:

a) 1-Bromo-1-ethoxy-2-propene.

b) 3-Bromo-3-methoxy-1-propene.

c) 4-Bromo-5-hexene.



d) 3-Bromo-3-ethoxy-1-propene.

_____________________________________________________________________


[image: image6.emf]7
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is:

a) 2-Amino-3-bromo-5-hexanone.

b) 3-Bromo-5-hexanon-2-amine.

c) 5-Amino-4-bromo-2-hexanone.

d) 4-Acetyl-2-amino-3-bromobutane.


[image: image7.emf]8
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is:

a) N-Methylaniline.




b) Methylphenylaniline.
c) Benzylmethylamine.                                               d) N-Methyl-N-phenylammonia.
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is:

a) 1-Bromo-4-methoxycyclohexanecarboxylic acid.


b) 4-Bromo-1-methoxycyclohexanecarboxylic acid

 c) 6-Bromo-3-methoxycyclohexanecarboxylic acid.
   d) 2-Bromo-5-methoxycyclohexanecarboxylic acid.
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      is:

a) 1- Fluoro-3-hydroxy-5-methyl benzene.

 b) 3-Fluoro-5-methyl phenol.

c) 3-Fluoro-5-hydroxy toluene.

              d) 1-Fluoro-5-methyl-3-phenol.

II) For the following questions choose the best answer:
11- Which of the following is salicylic acid?    C            
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  12- Which one of the following compounds is an oxime?  a
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13- Which of the following compounds cannot show geometric isomerism?   

a)1-Chloro-2-methyl-1-butene


 b) 2-Pentene     
c) 2-Ethyl-1-pentene 


   
             d) 3-Chloro-2-pentene
14- Which of the following is propylene glycol?   b
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15- Which of the following compounds is an acetal?    a 
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16- Which of the following compounds is a secondary amine?  d  
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17- Which one of the following compounds is an aromatic? b[image: image15.emf]a)
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18- Which of the following alkanes has the lowest boiling point? a
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19- Which of the following compounds does not form hydrogen bonds between its molecules? d
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20- What is the bond angle in acetylene?                                             

a) 109o

             b) 120 o                              c) 180 o                                    d) 110 o 
21- Which compound has the highest boiling point?

a) CH3-COOH                                                                             c) CH3-CHO

b) CH3-CH2-OH                                                                            d) CH3-O-CH3
22- Which of the following has the highest acidic properties?   b
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23- Which of the following compounds has the highest basic properties? d 
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24- Which one of the following compounds is insoluble in water?

a) Formic acid 
    b) Benzoic acid
      c) Acetic acid

d) Butyric acid

25- Ketones can be prepared by the oxidation of:

a) Primary alcohol    b) Tertiary alcohols        c) Secondary alcohols      d) None of these

26- The main product of the reaction of 2-Methyl-2-butene with Br2 in H2O is:  a
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III) Complete the following reactions by the main product or reagent
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